[bookmark: _GoBack]Lesson 4-2 and 4-3: Triangle Congruence		Name______________________________
Target: To prove two triangles congruent using the SSS, SAS, ASA and AAS Postulates and Theorems

Side-Side-Side (SSS) Postulate
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Side-Angle-Side (SAS) Postulate
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Angle-Side-Angle (ASA) Postulate[image: ]
*included angle/side – see diagram below
[image: ]

Angle-Angle-Side (AAS) Theorem
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For the following problems:
a) Determine whether the following triangles are congruent.
b) If they are, name the triangle congruence (pay attention to proper correspondence when naming the triangles) and then identify the Theorem or Postulate (SSS, SAS, ASA, AAS) that supports your conclusion.
c) Be sure to show any additional congruence markings you used in your reasoning.
d) If the triangles cannot be proven congruent, state “not possible.” Then given the reason it is not possible.
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Use the given information to mark the diagram appropriately. Name the triangle congruence (pay attention to  proper correspondence when naming the triangles) and then identify the Theorem or Postulate (SSS, SAS, ASA, AAS, HL) that would be used to prove the triangles congruent. If the triangles cannot be proven
congruent, state “not possible.”
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Triangle Congruence Proofs
1. [image: ]Using SSS
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2. Using SAS
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3. Using ASA
[image: ]

[image: ]



U

4. Using AAS
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Theorem If... Then...

If two angles and a LA=/D,/B=LE, AABC = ADEF
nonincluded side of one AC =DF

triangle are congruent to two 8
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Given: /A= /D,/B= /FAC=DF
Prove: AABC = ADEF
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Given: LM = NP, LP = NM
Prove: ALMN = ANPL
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Given: BC = DA, ZCBD = /ADB
Prove: ABCD = ADAB

C D
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Given: /CAB = /DAE, BA = EA,
/B and £E are right angles
Prove: AABC = AAED
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Given: /M = /K, WM || RK
Prove: AWMR = ARKW
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Postulate
If the three sides of one

triangle are congruent to
the three sides of another
triangle, then the two
triangles are congruent.

Then...
AABC = ADEF
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Postulate If... Then...

Iftwo angles and the /A= /D, AC=DF, AABC = ADEF
included side of one triangle /C=/F
are congruent to two angles B

and the included side of E
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two triangles are congruent. A c
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